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Abstract

In this thesis we study the strong conical hull intersection property completely characterizes the

best approximation to x in a hilbert space X from the set

K=C0Cn{zeX:—g(x)eS}

by a perturbation x — 1 of x from the set C' for some | in a convex cone of X. where C is
a closed conver subset of X. S is closed convexr cone which does not necessarily have non-empty

interior. Y is a banach space and g : X — Y is a continuous S-convex function.

Keywords:

Strong conical hull intersection property, constrained best approximation, e—subgradients, sequential

dual conditions.
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